AAIMFE
LGG &5

> FFmit R

> BERREF THXRFE

PSRRI THRE R ERTE PR R4
> ZEHEY

= ERAMRRESEREGIER THMEAIZE S
> HIERE

EHlE A R — SN E T BRI INE TS

> FERiEm

RY+&#S

LGXX-XX

G4 °

2 www.zimmer-group.com » EE B4R, 3D B8, ZEEMEA IR



> BT

> HAREE

BERBLRT
- 5hra
- LG35-39BY S Y L, khmFOfR(m)

B
N Dt e
IR E B 25N R
CERREAS
- TN AT R R
OF T2
- B RN SRR R 105
RS R RE STHTEN
- BB
tsEEE
AR TIRIERE ST (26 bar)

6 mis

- TESREMENE 8] (LG35-39FI 51 k)

Eﬂﬁli

LG15-18
LG18-22
LG22-26
LG26-30
LG30-35
LG35-39
LG40-45
LG46-51
LG51-56
LG56-62
LG63-70
LG71-80
LG76-84
LG81-90
LG91-100
LG100-110
LG110-120
LG120-135

HR&AMETR O
[mm]
25
4.0
4.0
4.0
5.0
4.5
6.5
6.0
7.0
7.5
8.0
105
8.5
1.0
10.0
1.0
1.0
16.0

B3Pl
[N]
100
100
150
150
200
300
400
500
750
900
1100
1500
1700
2000
2500
2800
3500
3500

= IP &4
[ka]
0.035 IP54
0.037 IP54
0.055 IP54
0.074 IP54
0.091 IP54
0.15 IP54
0.18 IP54
0.27 IP54
0.47 IP54
0.41 IP54
0.6 IP54
0.8 IP54
0.7 IP54
0.91 IP54
1.8 IP54
1.6 IP54
2 IP54
23 IP54

R B4R, oD 1BEL REMFEMIRAE < www.zimmer-group.com

3



AAIMF
LGG &7

> = m Al
O D MEBEELE
[‘EE;] : ¥ Q) sERHtRT
]
10i0) 4D o-g—
{010 o} .
Q!0 ﬁ)| X
> BEHFEIN
T
EEP ﬁb/ﬁ{#r— %J 7)?1#["
.%é GV1-§X8 o DEy(\)B
= Bk * Rt
> HAREE
Eﬁlﬂéﬁ% LG15-18 LG18-22 LG22-26 LG26-30 LG30-35
HIZABRITIE @ [mm] 25 4.0 4.0 4.0 5.0
/MTEYERd [mm] 15.0 175 21.5 25.5 29.5
BAIMENERED [mm] 175 215 255 29.5 345
FEFN] 100 100 150 150 200
WfaRs i8]/ ZEF A i) [s] 0.2 0.2 0.2 0.2 0.2
BEETEMHEE +/- [mm] 0.05 0.05 0.05 0.05 0.05
B/MRIESE [par] 2 2 2 2 2
RANEESE [bar] 6 6 6 6 6
FEIRIESIE [par] 6 6 6 6 6
RIERIERE [°C) 5 5 5 5 5
RetRERE [°C] +80 +80 +80 +80 +80
BREIFESER [cm?) 1 1 1 2 3
TRIBIEC 60529FF R 2RI IP54 IP54 IP54 IP54 P54
E= [kg] 0.035 0.037 0.055 0.074 0.091
A M14X1.5 M14X1.5 M14X1.5 M16X1 M16X1
C [mm] 18 18 20 20 20
E @ [mm] 5 5 5 6 7
F [mm] 10.5 10.5 11.5 10.5 11.5
G [mm] 7 7 7 7 8
K @ [mm] 14.5 17 21 25 29
L [mm] 42 42 50 50 52
M @ [mm] 14h7 14h7 14h7 16h7 16h7

www.zimmer-group.com » EE B4R, 3D B8, ZEEMEA IR



